


if (process is interactive process) and 

 (user interactive weight is high),

then nice is

low

if (process is interactive process) and 

 (user interactive weight is middle),

then nice is 

middle

if (process is interactive process) and 

 (user interactive weight is low),

then nice is 

high

if (process is batch process) and 

 (user batch weight is high),

then nice is 

low

if (process is batch process) and

 (user batch weight is middle),

then nice is 

middle

if (process is batch process) and

 (user batch weight is low),

then nice is 

high

if (process is real-time process) and

 (user real-time weight is high),

then nice is 

low

if (process is real-time process) and

 (user real-time weight is middle),

then nice is 

middle

if (process is real-time process) and

 (user real-time weight is low),

then nice is 

high




